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Run 4454 quartetwise, Asyms0 (Raw): All
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Run 4454 gquartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

E - Enlrizs T4940

[ Mean —-206.8

— Sid Day  1.219+05

I N T T T T N T N N O B [ T N T N T A N N O O O NN % ﬂﬁ
15 10 -5 O 5 10 15

HelNSamples0)/|FosHelAcel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 22.899559)

350

300

250

200

150

100

o
=

=

Run 4454 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4454 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4454 quartetwise, Diffs0: All Run 4454 quartetwise, Diffs0: Beam OFF
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Run 4454 quartetwise, NegHelAccO/NSamplesQ: All
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Run 4454 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
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Run 4454 quartetwise, NegHelAcc0/NSamples(: Beam OFF
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Run 4454 quartetwise, PosHelAccO/NSamplesC: All

Run 4454 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4454 quartetwise, Sums0: All

Run 4454 quartetwise, Sums0: Beam OFF
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Run 4454 quartetwise, Sums(: Beam ON, Laser OFF
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Run 4454 quartetwise, Sums0: Beam ON, Laser ON
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